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How to Approach a Factoring Problem

Is there a Greatest Common Factor (GCF)?
If so, factor out the GCF.

|If 2 terms remain

If 3 terms remain |

If difference of squares: a? — b,
factor as (a +b)(a — b)

If a perfect square trinomial:

a® + 2ab + b2, factor as (a + b)? = (a + b)(a + b)
or
a® — 2ab + b?, factor as (a — b)> = (a — b)(a — b)

|If 4 terms remain |

Group the 4 terms into groups of 2.
Factor out any monomial GCF’s.
Factor out the binomial GCF.

[or]

If difference of cubes: a® — b3,
factor as (a — b)(a? + ab + b?)

[or]

If sum of cubes: a® + b2,
factor as (a + b)(a* — ab + b?)

If a trinomial of the form
2% + bx + ¢, or ax® + bx + c,
factor as product of two binomials:
either (z + m)(x + n)
where mn =c, and m +n =>
or (pr +m)(qx +n)
where mn = ¢, pg = a, and pn + mq = b.
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